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A 1-oz bullet moving horizontally hits a suspended 100-1y
block of wood and becomes embedded in it. If you measure the
angle through which the wires supporting the block swing as a
result of the impact and determine it to be 7°, what was the bullet’s
velocity?
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The bar rotates in the horizontal plane about a smooth pin
at the origin. The 2-kg sleeve C slides on the smooth bar, and the
mass of the bar is negligible in comparison to that of the sleeve.
The spring constant k = 40 N/m, and the unstretched length of the
spring is 0.8 m. At 7 = 0, the angular velocity of the bar is w, = 6
rad/s, r = 0.2 m, and the radial velocity of the sleeve is v, = 0.

What is the angular velocity of the bar when the spring is
unstretched?




